GEOMETRIC SEQUENCES AND SERIES SECTION 9.3

NOTES
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Determine whether the sequence is geometric. If so, find the common ratio.
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1. Write the first four terms of the geometrlc sequence whose nth term is 6(-2)". Then find the

common ratio of the consecutive terms. a 8 C? (“1)1 & J 2 24
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The nth Term of a Geometric Sequence:
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The nth term of a geometric sequence has the form a n_ ( (\

where ris the
common ratio of consecutive terms of the sequence and g, is the first tem.

Example:

2. Write the first five terms of the geometric sequence whose first term is a, =
ratiois r=4.
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2 and whose common

3. Find the 12t term of the geometric sequence whose first term is 14 and whose common ratio is 1.2



4. Find the 12t term of the geometric sequence 4, 20, 100, . ...
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|0z 195,312,500

5. The second term of a geometric sequence is 6, and the fifth term is 81 /4. Find the eighth term.
(Assume that the terms of the sequence are positive.)

]
4 G r-ry= g
g N .,’_.&1:11

2 LQ[’ hfq-"{-fz

D

LT

=%

®

= 2

s
The Sum of a Finite Geometric Sequence l h
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5. Find the sum iz(t]li)f“ ; g - 2 (‘)»25)
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Geometric Series

The summation of the terms of an infinite geometric sequence is called mjﬂﬂ;ﬂmﬂm&.



The Sum of an Infinite Geometric Series
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7. Find each sum.
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8. An investor deposits $70 on the first day of each month in an account that pays 2% interest,
compounded monthly. What is the balance at the end of 4 years?
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